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And since sometimes it- DN 272 99 N7 P12 KT PP 19T 11929
lifts this and sometimes this, it should be like a Zohv who turns over

Overview

XNIP0 T A7 ' argued that there is no proof from the 71wn of a 21 that 12 PX ¥»°on
wnn, because there the animal picks up the foot entirely and is not even a y»on. The
X3 rejected this argument, saying that since sometimes the animal picks up one
foot and other times the other foot, it should be comparable to the case' of a Jo7nn7 21
and the 0°n°2v underneath should be Rnv. Our Moo defines this question
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And it should be X»v even in the 2",

Summary
If we do not say wnn 12 X ¥>°0n and the reason why they are 17170 is because 7Py

"9, the rule should be that X»v 32°90 even in a 1"731.

Thinking it over

Why is the question of 791017 215 »7°% dependent on maintaining Wnn 12 W° ¥>0n
(and it was X7 71T X7 TPV PIRT); the same question is seemingly also if we
maintain Wnn 12 PR ¥on?*

! The X3 immediately cites this case. See 198> 71"7 'oin.

2 There is a general rule that X2b 12900 *"7172 AR 290 and ML P50 7"772 IRML Poo. The issue is, even if we compare
the case of 7172 to the case of ornMA 21 (Where &nv 17°90), nevertheless we can distinguish between both cases; by
the 797017 21 on benches, it is presumably in a *"717 therefore it is Poon Rw; however the case of a 72 %23 5y 21011 7
is presumably in a 1"771 where the rule is 7w 1P 0. It is this issue that moo1n addresses.

3 The rule of 717w 7"7772 8™ P90 is (usually) in a case where we do not know whether there was 7xmw there or not.
However here (since the nnn2 certainly picked up her foot) there is 7&mv under her three feet, the question is merely
which three feet, in such a o0, maintains N1HOIN, even RV P00 1"772. See R"WIIA.

4 See "W WM.
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